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Q/1 For the beam shown in Fig. 1. Draw axial force, shear force and bending moment

diagram.
: 10 kN / m v g

ket A

e e B 0 1

Q72 A4 circle composite column consists of steel and
bronze . find the compressive stress in steel and bronze.

Esen = 210 kN/ mm’. E Bron-e = 84 kN/ mm’

Bronze

T el

C\\‘L/\ /Z
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O/3 For the shaft shown below .
1- Draw axial force diagram..

2- find max. shear stress and max. shear strain. Where G=80 000 N/mm?
*  3- Find the angle of twist at B, Cand D.

150N . m 150 N.m

300mm 500mm

0/4 Find the allowable load (P) ., if the allowable stress in steel and bronze are 140 MPa, 50
MPa respectively.

Bronze

A= 1250 min
E=84kN/mm

Steel

A=300 mn
E=210kN/mm
L=3m

ke
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